BCC-Macroeconomics

Study Guide 
Ch. 8-9 Exam #3
Chapter 8 – The Keynesian Model
Classical economic theory: flexible wages and prices
Say’s Theory: supply creates demand
John Maynard Keynes – theory: 

Consumption function – shifts in consumption 
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Investment and Interest Rates – shifts in investment
MPC + MPS = 1; calculating MPC and MPS
Saving vs. Dissaving

Chapter 9 – The Keynesian Model in Action

Real GDP (Aggregate Expenditures) =


C + I + G + (X – M)

Spending Multiplier and its Effect
Keynesian Aggregate Expenditures Model

· depletion v. accumulation

· shifts in AE
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*Take a look at the notes you have taken and the textbook that corresponds.  
Also, take a look at questions that we have answered from the end of each chapter…it will help you with the short answer portion of the test.  
The practice multiple choice questions will help you with that part of the test too!  
Good Luck!
